FUBAG

BS 9500 ES (568203)

HOMep

w/n KO/l Ha3BaHHe KOJI-BO
1 2.63.01.01756 6ot M6x22 8
2 2.50.01.005600 KPBIIIIKA TOJOBKH IUIUHAPA (TIpaBas) 1
3 2.60.09.002000 MPOKJIAJIKa KPBIIIKH KJIaraHa 2
4 2.50.09.001400 ¢dukcaTop KianaHa 4
5 2.50.10.000200 MIPOKJIAJKa BIyCKHOTO KJIallaHa 2
6 2.50.09.000600 IIpy’KUHA KJ1alaHa 4
7 2.50.01.005700 KPBIIIKA TOJIOBKY IUIUHApA (JIeBast) 1
8 2.50.09.000400 MPY’KUHA KIIallaHa 4
9 2.51.07.001100 poOKa MacI03aJIMBHOM TOPIIOBUHBI 1
10 2.50.04.001200 BBIIYCKHOM KJIarnaH 2
11 2.50.03.001700 BITYCKHOM KJIamaH 2
12 2.53.06.001800 cBeua 3axuranusi F7TC 2
13 2.50.02.003800 KPIOK 2
14 2.50.02.003900 rOJIOBKA IUIWHApA (TipaBas) 1
15 2.60.08.005700 MPOKJIaJIKa TOJOBKH IUIUHIpA 2
16 2.63.01.00405 mrapt O12x20 4
17 2.50.07.001400 maTyH 4




18 2.50.05.001400 KOPOMBICIIO KJIamaHa B cOope 4
19 2.50.06.000200 OCHOBaHUE KOPOMBICIIA 2
20 2.63.01.02033 6ont M10x1.25%87 8
21 2.63.01.02494 6ot M6x12 2
22 2.50.01.005800 KOXYX (JIEBBIHN) 1
23 2.50.02.004000 rOJIOBKA IMJIMHApA (JIeBast) 1
24 2.63.01.02024 6ont 37-M6*25 1
25 2.50.01.006700 KOXYX (TIpaBblif) 1
26 2.50.09.000700 MPY’KUHA KIIallaHa 2
Ht:;zfp KO/ Ha3BaHHe KOJI-BO

1 2.63.01.01530 6oaT M8x50 4
2 2.50.16.002500 KOJIJIEKTOP BITYCKHOM 1
3 2.60.02.002300 MPOKJIa/IKa BITyCKHOTO KOJUIEKTOPa 2
4 2.60.04.002600 MpOKJIa/iKa KaporopaTopa 3
5 2.50.13.003200 TpyOKa camyHa 1
6 2.55.02.002700 ajanrtep kapOrwopaTopa 1
7 2.54.03.003700 JIpoccelb 85mm 1
8 2.62.01.011400 pblyar apoccens 1
9 2.55.01.022300 KapOroparop 1




10 2.62.01.010800 3aKUM NPYKUHHBIN @18 2
11 2.50.11.014100 KOPITyC BO3AYIIHOTO (puibTpa 1
12 2.63.01.03011 6ot M6x90 4
13 2.63.01.02026 6ot M6x%30 4
14 2.50.16.002300 BaJIMK BO3YIIHOTO (GUIbTpa 1
15 2.50.11.014101 KapTPUIK BO3IYITHOTO (PHIIBTPa 1
H(;I;«pr KO/ Ha3BaHHe KOJI-BO
1 2.51.02.001400 MIECTEPHS CTaOMIIU3aIi 000POTOB 1
2 2.63.01.02036 6ont M6x16 2
3 2.55.01.019400 HAcOC MacCJISIHbIN 1
4 2.63.01.02041 maiiba O38.5xP54x1 1
5 2.60.01.003600 MIPOKJIA/IKa KPBILIKU KapTepa 1
6 2.63.01.02030 6ont M6x16 3
7 2.55.01.019600 SKpaH caryHa 1
8 2.51.05.003600 KpBIILIKa KapTepa 1
9 2.63.01.00391 oont M8x50 9
10 2.51.06.003100 1y 1
11 2.09.01.005800 O-konbuo ¢13.2*2.65 1




12 2.51.17.004300 casibHUK O38xP5Z%Y 1
13 2.63.01.01047 mtupt Gx12 2
H(l);;{rfp KO/l Ha3BaHHe KOJI-BO
1 2.51.16.005200 pacrpeaBa 1
2 2.63.01.02039 maifdba @ 17.5xP26x1 1
3 2.51.15.025000 KOJICHBAJ 1
4 2.51.12.003600 maTyH 2
5 2.51.10.000100 KOJIBLIO CTOIIOPHOE 4
6 2.51.09.001300 naJier] NOpUIHEeBOM 2
7 2.51.08.002200 MOpLIEHb 2
8 2.51.11.003200 Ha0Op MOPIITHEBBIX KOJIEI 2




HOMep KO/ Ha3BaHHe KOJI-BO
n/n
1 2.63.01.02023 raitka M20x1.5 1
2 2.53.02.006300 KaTyIlKa 3aKUTraHus (J1eBast) 1
3 2.62.02.008500 IUTACTUHA JIONIACTH 1
4 2.52.04.001900 KpBUIbYaTKa OXJIAXKACHUS 1
5 2.53.01.007400 MaxOBUK 1
6 2.63.01.01934 6ont M6x30 4
7 2.53.02.006400 KaTylIllKa 3a)KUraHus (mpasas) 1




HOMep

w/n KO/ Ha3BaHMe KO0J1-BO
1 2.51.01.005900 KapTep 1
2 2.63.01.02038 nraitba ®14x1.5xD22 2
3 2.63.01.02025 6onT cnmuBHOM M14%1.5%15 2
4 2.63.01.02030 o6ont M8x16 2
5 2.63.02.015200 noamuHuk 6003 1
6 2.50.05.001100 KOPOMBICIIO 1
7 2.63.01.00567 mrudt G8x10 1
8 2.63.01.02028 6ot M6x16 1
9 2.51.04.003300 JATYUK Macja 1
10 2.63.01.02030 o6ont M8x16 2
11 2.63.01.02306 6oaT M6x%25 8




13 15
_ 16 11 [ 37
1_ o t ;;];. e
A N
Cxp ]
I,'. .III __“ -
oA '

H(:ylfp KO/ Ha3BaHHe K0JI-BO
1 2.50.01.006100 KOXKyX TOJIOBKHU IIHIUH/IpA (TIpaBbIii) 1
2 2.63.01.02494 6ont M6x12 4
3 2.62.01.012900 XOMYT 1
4 2.55.01.019300 paznuaTop 1
5 2.63.01.02306 6ot M6x%25 2
6 2.55.01.019500 (GUIBTP MacCISTHBIN 1
7 2.55.06.018800 TpyOka ¢9*p17*400mm 3
8 2.63.01.02026 6ot M6x%30 3
9 2.09.01.005700 KPOHILITEHH MacisHOro paauaropa ¢11.2*2.65 2
10 2.55.07.004000 3aKUM TIPY>KUHHBIN @14 2
11 2.55.06.018900 32)KMM TOIUTMBHOTO nutanra ¢9*p17*450mm 2
12 2.62.01.012600 ¢dukcaTop mpoBoaa 1
13 2.62.02.008400 Mpy>KMHA MACJITHOTO Hacoca 1
14 2.06.04.035400 IapyuK CTaNIbHOU 9.5 1
15 2.55.07.004500 o0pyu 2
16 2.63.01.00498 npoktaaka amomMuHaueBas 10%17*1 1




HOMep

w/n KO/ Ha3BaHHe KO0J1-BO
1 2.51.03.001000 BaJI IIECTEPHU 1
2 2.63.01.01567 IITUTUHT 2
3 2.51.17.002400 canpHUK 8%14*5 1
4 2.63.02.015700 noamunauk HK0808 2
5 2.63.01.02037 maitba GB/T 97.1-2002 3
6 2.54.02.004300 NPy KUHA PETYJISITOpA 1
7 2.54.02.004400 MpyKUHA PETYJISITOpa 1
8 2.54.02.005300 JpoccebHas Mpy>KUHa BO3BpaTa 1
9 2.54.01.008900 IIPUBO/J] BO3AYLIHON 3aCIIOHKH 1
10 2.54.03.002900 TSTA 1
11 2.54.04.003100 pplyar 1
12 2.62.01.011200 npyXUHA 1
13 2.63.01.02494 60T M6x%12 3




HOMep

w/n KO/ Ha3BaHHe KOJI-BO
1 2.63.01.02044 mmnwibka M6x102 4
2 2.63.01.02494 60T M6x%12 3
3 2.52.06.002600 KOXYX (TIpaBBbIii) 1
4 2.51.17.004300 cabHUK P38xPS5ZxY 1
5 2.63.01.02028 6ont M6x16 2
6 2.63.01.02026 601TM6%30 1
7 2.53.07.001200 IIITHHIETb 1
8 2.63.01.02026 60T M6x%35 1
9 2.50.10.002100 KpBIILIKa CalyHa 1
10 2.50.10.002401 IUTACTHHA CallyHa 1
11 2.60.10.002800 IIPOKJIAJKA KPBILIKY CallyHa 2
12 2.50.10.002200 JKpaH calyHa 1




HOMep

w/n KO/ Ha3BaHHe KOJI-BO
1 2.55.07.003600 3aKUM IPYKUHHBIN ¢9.8 1
2 2.55.06.017700 [UIAHT TOTUTUBHEIN 04.5%8.5%185+¢p5*p9*15 2
3 2.55.06.017800 [UJIAHT TOTUIUBHBIN 04.5%08.5%240+¢p5*p9*25 1
4 2.55.01.005800 (bUIBTP TOTITUBHBII 1
5 2.55.06.017900 NUTAHT TOTUTMBHBIA (04.5%(8.5%240+40 1
6 2.63.01.02026 6ot M6x30 2
7 2.53.03.005100 KaTylIlKa 3apsIKu 1
8 2.63.01.02032 6ont M8x110 2
9 2.63.01.00329 mrudt O8x12 2
10 2.52.02.001700 AIIEKTpOCTapTEP 1
11 2.51.04.002500 COEMHUTEIIBHOE YCTPOMCTBO BBIMPSIMUTEIIS 1
12 2.63.01.02016 raiika M5 1
13 2.63.01.02494 6ont M6x12 4
14 2.50.01.006000 KOXKyX T'OJIOBKH IIMJIMHJIpA (JIEBBIN) 1
15 2.55.07.003800 3aKUM NPYKUHHBIA 8 2
16 2.55.07.003600 3a)KUM TIPY>KUHHBIN (9.8 5




H(l)yrfp KO/ Ha3BaHHe KOJI-BO
1 2.63.01.00291 raiika M6 6
’ 552.01.102800 KpLIIHKa—,I[e(pJIeKT(()Ep(::::.I))KI[eHI/IH JIBUTATEIIsS 1
3 2.63.01.02494 6ont M6x12 3
4 2.52.06.002500 KOXYX (JIEBBIiT) 1
5 2.63.01.02026 6ont M6x35 2
6 2.63.01.02035 BUHT 4.2%20 2
7 2.52.01.096700 3acJIOHKa 1
? 2.62.01.010900 TOJIOBKa pa36p1?;;§1;23maﬂ pe3uHoBast 5
9 2.55.01.018900 KPOHIITEIH TOIUTMBHOT'O HAacoca 1
10 2.55.01.015600 HAacoC TOIUTUBHBIN 1
11 2.63.01.02494 60T M6X12 2




HOMep

i KO/l Ha3BaHHe KOJI-BO

1 2.63.01.00570 6oaT -M6*12 8
2 2.56.07.011600 KpBILLIKa 1
3 2.56.03.006101 LIETKU YTOJIbHBIE 1
4 2.62.01.002300 KOJIOJIKA KOHTAKTHAas 1
5 2.62.02.009000 HITaHT U 4
6 263.01.02768 6oaT CTaTKE?OE?ég*IfS?'2-2004- 4
7 2.63.01.00075-1 6ont poropa GB/T 5782-2000-M10%275*1.25 1
8 2.63.01.00444-1 nraitda -GB/T 97.1-2002-10*30*4 3
9 2.63.01.01762 raiika GB/T 6177.2-2000-M10*1.25 6
10 2.56.05.001600 CyHnmnopT anbTepHaropa ¢270 1
11 2.56.03.025300 CTaTOp U POTOP 1
12 2.63.01.02767 6ontr GB/T 16674.2-2004-M10%35*1.25 4
13 2.56.05.001700 KPpBIIIKa NEepeaHss albTepHATOpa 1
14 2.63.01.01762 raiika /GB/T 6177.2-2000-M10%*1.25

15 2.63.01.00287 raiika GB/T 6170-2000-M8 4




HOMep

i KO/l Ha3BaHHe KOJI-BO
1 2.63.01.01705 mraitba GB/T93-¢8 4
2 2.63.01.00287 raiika GB/T6170-M8 4
3 2.60.03.001900 MPOKJIAJIKa TIIYIIUTENS 2
4 2.50.12.024400 [Ty IINATENb 1




HOMep

w/n KO Ha3BaHMe KO0J1-BO
1 2.55.07.001000 32)KUM TOIIJIMBHOTO IIUTAHTA 2
2 2.62.01.013300 nuIaHr rogppupoBanubiii $20*800 1
3 2.55.06.019000 nutadr 4.5*e8*900 1
4 2.55.08.000700 KHOITKA BKJI/BBIKII 1
5 2.63.01.01812 MPOKJIa/IKa TOTUTMBHOTO Oaka 6*25%2 4
6 2.63.01.00914 6ont B/T 16674.1-2004-M6*25 4
7 2.55.05.091200 TOTUTUBHEIN 0ak 1
8 2.55.05.024801 KPBIIIKA TOTUTMBHOTO Oaka 1
9 2.55.05.026001 bueTp 1

|

!

H(l)11>4Hep KO/l Ha3BaHHe KOJI-BO
1 2.57.04.039700 IUTACTHHA U30JIMPYIOILas 1
2 2.63.01.01756 6ont GB/T16674.1-2004-M6*12 4
3 2.57.04.029200 KOJIBLIO 2
4 2.63.01.01756 6ontr GB/T16674.1-2004-M6*12 4
5 2.63.01.01795 raiika GB6177-M8 2
6 2.57.04.039900 HanpaBJISAIOIAs 1
7 2.57.04.040100 LIapHUK 2
8 2.63.01.00291 raiika GB6177-M6 8
9 2.57.04.039800 KPBIILIKA BEPXHSISA 1




10 2.63.01.03032 BuHT GB/T 818-2000-M4*8 2
11 2.57.04.034300 pyuka 1
12 2.60.10.003400 npoknaaka 500*180 2
13 2.60.10.003500 npoknazaka 350%70 1

HOMeEp

w/n KO Ha3BaHHe K0JI-BO
1 2.57.01.056000 pama 1
2 2.57.04.039600 MaHeNb 3aIHss 1
3 2.63.01.00570 6ont GB/T16674.1-2004-M6*12 8
4 2.57.04.039500 NaHeJb NepeaHss 1
5 2.63.01.02766 raiika-6apamexk GB/T 62.1-2004- M6 2
6 2.57.04.040200 racTuHa O6arapee 1
7 2.63.01.03021 00T MIaTCUHBI OaTapeu 2
8 2.10.06.002400 32KUM 1
9 2.56.10.008700 Kabenb (-) aKKyMyJIATOpHOU OaTapen 1
10 2.56.09.000500 AKKyMYJIATOP 1
11 2.56.10.008800 kabenb (+) akKyMyJISITOpHOH Oatapeu 1
12 2.57.04.039000 MJIACTUHA TIEPEeAHSA 1
13 2.63.01.01756 6ont GB/T 16674.1-2004-M6*12 4




HOMep

u/n KO/ Ha3BaHUe KOJI-BO
1 2.63.01.01808 6ontr GB/T16674.1-2004-M8*16 42
2 2.61.03.000100 KOJIECO YHUBEPCAIBHOE C TOPMO30M 2
3 2.61.03.000200 KOJIECO HAMPABJIAIOIICE 2
4 2.61.05.003600 TJIOIIAIKA KPETUICHUS KoJieca 4
5 2.63.01.00287 raiika GB6177-M8 16
6 2.57.04.040000 paMa HUKHSS 1
7 2.63.01.02767 6ont GB/T 16674.2-2004-M10%35*1.25 2




HOMep

i KO/l Ha3BaHHe KOJI-BO
1 2.56.01.158000 naHesb B cOope 1
2 2.56.01.158001 KpBIIIKa NEepEeIHEN MaHenu 1
3 2.56.01.158002 KJIeMMHHUK AC 2
4 2.63.01.00163-2 6ont GB/T 16674.1-2004-M5*16 2
5 2.56.04.002000 ABP 230V 1
6 2.63.01.00570 6ont GB/T16674.1-2004-M6*12 12
7 2.63.01.00302 BuHT GB/T 818-2000-M4*12 6
8 2.56.01.158009 BhIKITIOYaTens 37A/50 1
9 2.56.01.158003 00T U raiika 3a3eMJICHUsS 1
10 2.56.01.072701 kiieMMHUK DC 1
11 2.63.01.00302 BuHT GB/T 818-2000-M4*12 6
12 2.63.01.00267 raiika GB/T 6170-2000-M4 6
13 2.56.01.042304 BUJIKA 3
14 2.56.02.001500 mTeKep 1
15 2.56.01.158004 npeaoxpanuTens 16A 3
16 2.62.02.000500 Jpoccenb Kabems 1
17 2.56.01.158005 mucrieit GDP-1 1
18 2.56.01.011901 3aMOK 3akuranus (0e3 Kiroueil) 1
19 2.56.01.158008 [IaHEeNb 1

20 2.56.01.158006 KpBIIIKa 1
21 2.56.01.158007 poseTka 32A 1




22

2.62.01.009800

TpyOKa miacctukoBas $24%170

23

2.56.02.001200

BrIKa 32A

24

2.56.02.000600

BHUJIKA




